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Important Instructions for the Candidates :

1.

This Test Booklet contains 60 questions printed in English and
Odia. Out of these, the candidate is required to answer any
50 questions. If a candidate answers more than 50 questions,
the first 50 answered questions will be considered for
evaluation.

When you are given the OMR Answer Sheet, fill in your
particulars on it carefully with blue/black ball point pen only.
Use only Blue/Black Ball Point Pen for marking responses.
The CODE for this Test Booklet is D. Make sure that the
CODE printed on the OMR Answer Sheet is the same as that
on this Test Booklet. Also ensure that your Test Booklet No.
and OMR Answer Sheet No. are exactly the same. In case of
discrepancy, the candidate should immediately report the
matter to the Invigilator for replacement of both the Test
Booklet and the OMR Answer Sheet. No claim in this regard
will be entertained after five minutes from the start of the
examination.

Before attempting the question paper kindly check that this
Test Booklet has total 28 pages and OMR Answer Sheet
consists of one sheet. At the start of the examination within
first five minutes, candidates are advised to ensure that all
pages of Test Booklet and OMR Answer Sheet are properly
printed and they are not damaged in any manner.

Each question has four answer options. Out of these four
options choose the MOST APPROPRIATE OPTION and
darken/blacken the corresponding circle on the OMR Answer
Sheet with a Blue/Black Ball Point Pen.

Five (5) marks will be given for each correct answer. One (1)
mark will be deducted for each incorrect answer. If more than
one circle is found darkened/blackened for a question, then it
will be considered as an incorrect answer. Unanswered
questions will be given no mark. P.TO.
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501 EOD/D (2)

1.

Simplify : 24 + 4x2+8-4="2

(1 1 2) 7 3) 16 4) 56
. : 1 8 7 7 5.
The difference of the greatest and the smallest of the fractions 5, H, g, 5, g IS :
3 6 7 1
H — 2) — 3) — 4) —
O @ 3 O @ 3

The sum of LCM and HCF of two numbers is 854. If the LCM is 60 times the HCF and one of the numbers

is 70, then the other number is

(1) 160 ) 164 (3) 168 @) 172

The present age of Harish is 8 times the sum of the ages of his two sons at present. After 8 years, his age

will be 2 times the sum of the ages of his two sons. The present age of Harish (in years) is :
(1) 31 2) 32
3) 33 (4) 34

In an examination, it is required to get 300 marks to pass. A student gets 225 marks and is declared fail by

10% marks. What are the maximum marks of the examination ?
(1) 700 (2) 750
(3) 800 (4) 850

In a class of 40 students, ratio of boys and girls is 3 : 2 and the average marks scored by boys is 42 and that

by girls is 46. Then the average marks scored by the whole class is :
(1) 434 (2) 43.6
(3) 438 4) 44

The sum of three numbers is 136. If the ratio between the first number and the second number is 2 : 3 and
that between the second and the third number is 5 : 3, then the first number is :

(1) 42 (2) 40
(3) 36 4) 32

SPACE FOR ROUGH WORK



501 EOD/D (3)

1.

AN @G :24 + 4x2+8-4=7
(1 1 2) 7 3) 16 4) 56

Ag0IQ 8¢ & AQ0Ig 68IT QaIrga ARt -, = 1. 7. > 6298
3 6 7 1
M 3 @ 2 ® 5 @ 5

QPG A°HIQ M. Q. 971, 9Q° 4RI . Q ANT 62T 854 | UG IN.Q AR A L. Q
60 Q&1 4Q° 661G QI 70, 6069 2R A°HUIT 62T
(1) 160 (2) 164 (3) 168 4) 172

AT QANAQ @0 GIF QR U QAL QRRIEQR 8 Q€1 )R 1 8 QF 969 Sl @0Q
QI Q@ JeU QUL 2 €l 69 | 20T QRAFQ A (T6Q) 6LRZ

(1) 31 (2) 32

(3) 33 (4) 34

AQIVIER QA4 629! IR 300 FIR AR FARIG AFEIN | FEEI BIQ 225 FIR ARG IS
10 9690 AIR6Q TR 6QITG 9AUR 1 ANVIQ AGRYR TR 6268 2

(1) 700 (2) 750

(3) 800 (4) 850

10 @6 BIQBIGT YA 6ATY 644169, 2 IQ° 2T 2QAF 3 : 2 N JALE FIA
QAR IR 42 99° FACIOF FIQ LIALIA AL 46, 606Q AFIG 65411 FIQU LAQLIR A
69R8 :

(1) 434 (2) 43.6

(3) 43.8 (4) 44

G6QIT QA AN 6208 136 1 9T YA A IQ° FOIA LS| ARIEQ AQAIG 2 : 3 4Q°
1L G° Q1A QI FUIEQ QAR 5 : 3, 606Q FaIF A°HYIG 62RE -

(1) 42 (2) 40

(3) 36 4) 32

SPACE FOR ROUGH WORK
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10.

11.

12.

13.

14.

15.

An item is sold for ¥ 504 after allowing 20% discount and still a profit of 5% has been earned. The marked
price is how much more than the cost price ?

(1) T120 (2) 135
(3) %150 (4) T160

A certain sum becomes ¥ 2,356 in 3 years and ¥ 2,660 in 5 years on simple interest. The value of sum is :

(1) % 1,800 (2) T1,880 (3) T1,900 (4) T1,980

In a square, lengths of the diagonals are (4k + 6) cm and (7k — 3) cm. The area of the square (in crnz) is

(1) 144 2) 162 3) 169 4 172
The volume of a cylinder having base radius 3 cm is 396 cm?. Find its curved surface area (in cm?).
22
Usen= —
( )
(1) 280 (2) 3015 (3) 2064 (4) 320.6

A tap can fill a tank in 6 hours. After half the tank is filled, three more similar taps are opened. What is the
total time taken to fill the tank completely ?

(1) 4 hours (2) 5 hours

(3) 3 hours 30 minutes (4) 3 hours 45 minutes

A train running at the speed of 80 km/h crosses a 350 m long tunnel in 36 seconds. The length of the train
(in m) is

(1) 350 (2) 380 (3) 420 (4) 450

If the mean of 3, 4, 9, 2k, 10, 8, 6 and (k + 6) is 8, and mode of 2, 2, 3, 2p, 2p + 1), 4, 4, 5 and 6
(p is a natural number) is 4, then the value of (k — 2p) is :

(1 o 2 1 ) 2 4) 3

In triangle ABC, points D and E are on AB and AC respectively such that DE is parallel to BC. If
AD =6 cm, DB =4 cm, AE =9 cm, then the length of EC (in cm) is

(1) 7 (2) 6.4 3) 6 4) 5.5

SPACE FOR ROUGH WORK
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8.

10.

11.

12.

13.

14.

15.

Q@ 20 Jo9IC QLG AQAG 6QQ1 J6Q 6RIEIA G 504 FIEQ G 91 9L° QAT 5 JBIIS
AR AUSE AL 5F MY, MY OIQ 6R6E YR 2

(1) 120 9%l (2) 1359 (3) 150 Ol 4) 160 Ol

69I5N AR QIS 3 @F6R 2,356 O MG° AQR G RUEQ 5 ATER 2,660 T 6LIRAN 9@
ASG 6228

(1) 1,800 'l (2) 1,880 Q'@ (3) 1,900 Ol (4) 1,980 Q'

6915\ QT6Q, FAIRYLAR MY @k + 6) 6A.F. Q° (7K - 3) 648 6QIRAIN | VIR
6RRTR (62.51.% 6Q) 6228

(1) 144 (2) 162 (3) 169 4) 172

2RIA VA 3 628, 23l 9@ ARNWAQ AACR 62R8 396 6QF° | ¥LIQ 27 YIAUIR

6R9TR 6§I9g 6A.5.26Q) | (x = 27—2 NITIQ RAP)
(1) 280 ) 3015 (3) 264 4) 320.6

@ QY 6 Q& AIIER IR QY @@QlIGQ | 2RI QUi @QQI U6Q, 2R GERIT QLR
QUi 6NN | SHIFg Il QQAQ! IR A1 ARG Q'El 2

(1) 449l 2) 594

(3) 3 Q4 30 AG @) 3 Q445G

Q4 d& 80 @61 6906 QIR IR 69R 36 6ACRAER 350 FITQ M7 YRk UG

RN | 699 N (19Q 6Q) 62RE

(1) 350 (2) 380 (3) 420 (4) 450

QG 3, 4,9, 2k 10, 8, 6 G° (k + 6) Q QIAULIQA 8, AR° 2, 2, 3, 2p, 2p + 1), 4, 4, 5 4Q° 6 (p IR
JIQEe Q°&4l) Q6711 4, 606Q (k- 2p) Q FJMY

(1) 0 @ 1 3) 2 4 3

GRS ABC 6Q, @9 D IQ° E JaIQES] AB \Q° AC 6Q MUQ 2N 69 DE Q80 AAISAUR

62IQ2IN BC | UG AD = 6 6Q.61, DB = 4 6Q.41., AE = 9 6Q.41., 6969 EC Q @¢] 6A.5. 6Q)
6RAT :

(1) 7 ) 6.4 3) 6 4) 5.5

SPACE FOR ROUGH WORK
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, 4
16. If sinA= 3 then (3 —tan A) (2 +cos A) =

12 13 13
O @ 7 G 7 “4) 3

17. A man can row a boat at 8 km/h in still water. If the speed of the water current is 2 km/h and it takes him

2 hours to row to a place and come back, then how far off (in km) is the place ?
(1) 75 2) 6 3) 95 4 10
18. From the given options, which pass connects Jammu with Srinagar ?

(1) Banihal pass (2) Nathu La pass
(3) Niti pass (4) Rohtang pass

19. Which of the following is not correctly matched regarding Padma Awards-2024 ?
(1) Padma Vibhushan Award — Shri Konidela Chiranjeevi
(2) Padma Shri Award — Mithun Chakraborty
(3) Padma Bhushan Award — M. Fathima Beevi
(4) Padma Bhushan Award — Sitaram Jindal

20. Match List-I with List-II :

List-I List-IT

Person Area of work
(A) Vishakhadatta (D Medicine
(B) Kartikeya Sarabhai (I) Poet
(C) Charaka (II) Environmentalist
(D) Satyendra Nath Bose (IV) Mathematics

Choose the correct answer from the options given below.
(1) (A)- (@, (B) - (), (C) - (IV), (D) - (1)
(2) (A)-(D, (B)- I, (C) - (@), (D) - (IV)
(3) A -dD, (B) - (D, (C) - (1), (D) - AV)
4 A -dID), (B) - (IV), (C) - (1), (D) - (II)

SPACE FOR ROUGH WORK
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16.

17.

18.

19.

20.

QG sin A = %,6@6@ (3-tan A)(2+cos A)=

2 3 13
m 5 o 3 ¢ % @ 3

@64 QY& 9Q FREQ QLGS 8 @.7. 6906Q L& PRNR AIFRER | IS AR 6919 696! AL
95 2 .41 62IREIN 9G° 61N ARG 6TA 2ITQ AR BT 2 VY AT, 6961 62T
Qe 6260 96Q (@.61. 6Q) AR 2

(1) 75 () 6 (3) 9.5 4) 10

QLIRSS IR FUIQ 699 VA A 190 ATG A°6AIF F6Q 2
(1) eFEMaAl (@ AYNAY 3) @18l (4) 6QULeRr AIQ

dQ 9OR-2024 AGNEQ FINYG FIQ 699 GQE A0R VIFER 671R SRR 2
(1) 99TV R — §1 6RITCSN TR

@ 9941902 — Fge 099

(3) 99 RVE G — 97, TG QT

4) 99 QY8 gaRIa — AGIAUA Fm

IQ QIARI-1 AR FIRRI-II :

QIRRI-1 QIRRL-I1
It QIY6RQ
A F4IgeR ORINCIE
B)  QIRERY AARR I Q3
© oo 1) QRAAAEITQ
D) QA6RYQ 18l 61T Iv) géie

Q60 QUININSQI SRagEee FUQ A0R AAA ARG :

(1 (A)- D, (B) - I, (C) - (IV), (D) - (IT) (2) (A)- (D), (B) - 1), (C) - (D, (D) - (IV)
() (A)-(1), (B) - (@), (C) - (1), (D) - (IV) 4 (A -, (B) - (IV), (C) - (), (D) - (IT)

SPACE FOR ROUGH WORK
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21.

22,

23.

24.

25.

The following states were formed after 1960. What was the correct sequence of their formation ?

(A) Haryana (B) Sikkim

(C) Nagaland (D) Goa

Choose the correct answer from the options given below.

() (©), (B), (A), (D) 2) (©), (A, (B), (D)
(3) (©), (D), (A), (B) 4 (D), (O),(A), (B)

Out of the given options, which scheme’s objective is to conduct an annual survey at the gram panchayat

level to monitor the progress in the development process of rural areas ?
(1) Mission Antyodaya (2022-23) (2) Mission Karmayogi (2022-23)
(3) Mission Rashtriya Gokul (2022-23) (4) Mission Atmanirbhar Bharat (2022-23)

Which one of the following countries is not a member of the "Quadrilateral Security Dialogue", also
known as "QUAD" ?

(1) China (2) Japan
(3) India (4) Australia

Who has become the first woman chairperson of the Railway Board of Indian Railways in 2023 ?

(1) Jaya Verma Sinha (2) Mita Vashishth
(3) Ravneet Kaur (4) Vasudha Gupta
Match List-1 with List-II :
List-1 List-11
Country Currency
(A) Myanmar () Ruble
(B) Russia (II) Ngultrum
(C) Malaysia (II) Kyat
(D) Bhutan (IV) Ringgit

Choose the correct answer from the options given below.
(1 A -, B) - (D, (C) - AI), (D) - AV)
(2) A -dID), B) - (D), (C) - AV), (D) - (II)
(3) (A)-aV), B) - D), (C) - (1D, (D) - (1)
(4) (A)-(D), (B) - @, (C) - (IV), (D) - (III)

SPACE FOR ROUGH WORK
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21.

22,

23.

24.

25.

1960 1921 Y6Q FIRNYS ANGLR G090 @AM 6AAAFQ FORQ A0R |1 @'4l
Zml 2

(A) 2RI B) X ©) QIR (D) 69l

QC16Q GRIKIRGRI FRggGe FIQ A0R AAQ FITTY :

(1) (O), (B), (A), (D) ) (C), (A), (B), (D)

3) (0), (D), (A), (B) 4) (D), (C), (A), (B)

QLIRS GRAYER TRIQ 69R CAIRAIQ AR 6298 JITIERA TR JFAIER
2900 QUEQ FFA QYL AR GIF1 VLIV LAER IR TR A6 KRR 2

(1) FI8Q ADEAIQL (2022-23) 2) G99 @FI6QIGI (2022-23)

3) FEQ QURIL 6TIgM (2022-23) @) F6Q YRR AQS (2022-23)

FIRYG 6999FR IR 6296 PR IaS ARARIA" Q AXA 96L, AILIG "G C-)
QRIAIN 2

1) 919 @) AL 3) QU @) 2legmell
2023 6Q "AING1R 6ARAIR 691" Q YT AR COAQANI} @I 62IRRT 2
(1) S Qdll dgl ) 96 e8] (3) ARG 6XIQ (4) Q@ 94l
IQ QIARI-1 AR FIRRI-II :
QIRRI-1 QIRRL-I1
6QE9GR Q!
@) Gdeliaia 0 99R
®) Q2 an  gmae
© clemdel ) QA
D) QI (V) QeI

QY16Q GRIKIRGQI FRagee FIQ A0R AAQ IV :

(1) (A) - ), (B) - (D), (C) - (ID), (D) - (IV) (2) (A)- (D), (B) - (@), (C) - (IV), (D) - (1)
(3) (A)-1V), (B) - (D), (C) - (I1D), (D) - (IN) @ (A - 1D, B) - (D, (C) - (IV), (D) - (II)

SPACE FOR ROUGH WORK
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26. "Jhulaghat Suspension Bridge" between India and which country has become fully operational now ?
(1) Bhutan (2) Nepal
(3) China (4) Myanmar
27. Due to ocean acidification when the ocean becomes more acidic, what happens to the pH level of the
ocean ?
(1) The pH level goes down.
(2) The pH level stays the same.
(3) The pH level goes up.
(4) The pH level becomes zero.

28.  Who is the first para-athlete to receive the Padma Bhushan award in India ?
(1) Bhavina Patel
(2) Devendra Jhajharia
(3) Avani Lekhara
(4) Mariyappan Thangavelu

29. Zemu Glacier is located in which state of India ?
(1) Uttarakhand (2) Himachal Pradesh
(3) Sikkim (4) Arunachal Pradesh

30. Who among the following is Chile’s first woman President ?
(1) Mary Robinson
(2) Michelle Bachelet
(3) Kim Campbell
(4) Jennifer Shipley

31. Which organisation developed and launched 'Ugram' Indigenous Assault Rifle for the armed forces ?
(1) ISRO (2) BEL
(3) HAL (4) DRDO

32. Which of the following substances is a bad conductor of electricity ?

(1) Diamond (2) Gold (3) Silver (4) Graphite

SPACE FOR ROUGH WORK
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2. QI0G I8° 6RQ 664 F1IEQ "SMIIC AELQYR qa" alala Ql?"fj QYT 6RIQE 2
(1) YOI 2) 6xdiw 3) 91a 4) PN

27. 191419100 IINAS] RQEQ CHECEER LY]Q AR UL 6LIRAIN, 6466w
LGN pH L @ "€l @ 2

(1) pH RGN ST | (2) pH QAL QZ2N |
(3) pH QR AR | (4) pHQA G ERIQQAIN |

28, QIAGEQ AQ PV JQUQ ARAUEA Y2 AIQU-LIERTR & 2
(1) QAFK TN 2) 69699 QYA
3) 2R RS @) FIRQLR dIGFean

29. 65¢] 6930A NUAGA 6RR ULYER UGS 2
(1) QAU 2) @R Y64
3) 4eq @) QIR J6Qd

30. PONYRAIRE FIQ OMQ JIF AR QUFAG @ 2
(1) 6911 QAR 2) F69m QUEPENT
(3) @¢ PAUHMCAR 4) 6aacrq A4,

3. @Y QIQE19 6971 AR 'AGE 26941 2IFAS Q QA FAER 2
(1) ARG, 2) QM.
3) Q.M. 4) ©.21.e.0.

32. GORNYE 9QUYRR AIQ 6296 FIER HRIT AL 2
(1) LIl 2) 4@l 3) QI 4 9T

SPACE FOR ROUGH WORK



501 EOD/D (12)

33.  Which of the following disease is caused due to the deficiency of proteins ?
(1) Arthritis (2) Kwashiorkor
(3) Goitre (4) Night Blindness

34. Match List-I with List-II :

List-1 List-1I
Navy (Institution) Place
(A) INS Chilka (D  Goa
(B) INS Hansa (I)  Andhra Pradesh
(C) INS Satavahana (III) Kerala
(D) INS Garuda (IV) Odisha

Choose the correct answer from the options given below.
(1) (A)-dID), (B) - (D), (C) - (D), (D) - AV)
2 A)-d,(B)-1AV), (C) - (1), (D) - (I
(3) A)-AV), (B)- D), (C) - (1), (D) - (II)
4 A)-aAV), (B)- D), (C) - (ID), (D) - (1)

35. DRDO has conducted the first successful flight test of Agni-5 missile equipped with MIRV technology.
What is the full form of MIRV ?

(1) Multiple Independently Targetable Re-Entry Vehicle
(2) Mission India Target Re-Entry Vehicle

(3) Multiple Independently Technology Re-Entry Vehicle
(4) Multiple Indirect Targetable Re-Entry vehicle

36. Which Indian has won the "Ramon Magsaysay Award-2023" ?
(1) Korvi Rakshand
(2) Ashwini Kumar
(3) Dipti Ranjan Sahoo
(4) Dr. Ravi Kannan R.

SPACE FOR ROUGH WORK
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33.

34.

3s.

36.

QIR 6QUTYER FRIQ 62RG 67157 AR 6NN 2
(1) 2YIReQ 2) UG (3) 69IReQ @) QATANER 2SR

AIQ FIRRI-1 AZL IR -1 :

QIRR-1 QAT
616291 (YGUR) Qe
(A)  2RNQ.NYoR O a2
B)  2RNRage°ql D218 gead
© 2R 9]NQ AL 1) cqaae
D) ZIANQNY TG V) ggal

QC16Q GRIYIRNGQI Feagee AIQ A0R ARQ QISP :

(1) (A)- D), (B) - (1), (C) - (ID), (D) - (IV) ) (A)- (D), (B)-(IV), (C) - (ID), (D) - (I1I)

3) (A)-(V), (B)- (D, (C)- (I, (D) - (D) 4 (A)- V), (B) - (1), (C) - (II), (D) - (11T

DRDO MIRV 6G6QI6RIG AT Q@2 &8-5 69948I9Q JaIq ATR QIR Q1Y QRQF |
MIRV Q Qlﬂ@ Qd @€l 2

(1) Multiple Independently Targetable Re-Entry Vehicle

(2) Mission India Target Re-Entry Vehicle

(3) Multiple Independently Technology Re-Entry Vehicle

(4) Multiple Indirect Targetable Re-Entry vehicle

629 AABIE "AUEANR AIFEI6A JAAR-2023" AIRGE 2
(1) 62196 QYL 2) R QA

3) @ ABRAG 4) ©.98 @2 .

SPACE FOR ROUGH WORK
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37. Who has been appointed the Chairman of the 16 Finance Commission of India ?
(1) Ajay Narayan Jha
(2) Smt. Annie George Mathew
(3) Pradip Kumar Mohanty
(4) Dr. Arvind Panagariya

38. Sri Ranganathswamy Temple which is situated in Tamil Nadu, is dedicated to which deity ?
(1) Lord Shiva
(2) Lord Vishnu
(3) Goddess Durga
(4) Goddess Lakshmi

39. The Election Commission of India gets the power to conduct elections from which of the following

articles ?
(1) Article 324 (2) Article 280
(3) Article 264 (4) Article 26

40. Match List-I with List-II :

List-I List-1I
Centre of Handicraft State
(A) Mon ) Arunachal Pradesh
(B) Nalbari (I)  Assam
(C) Pasighat (IIl)  Meghalaya
(D) Tura (IV) Nagaland

Choose the correct answer from the options given below.
() (A)-(AV), (B) - (D), (C) - (D, (D) - (III)
2) (A)- (@, (B)- ), (C) - (IV), (D) - (1)
(3) (A)-AV),(B) - (D), (C) - (1), (D) - (II)
@ A -D, B)- 1D, (C) - AV), (D) - (1)

SPACE FOR ROUGH WORK
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37. 1699 QUNBIE 22 ZIELITR AUV RS &4 FYS 621R8S 2

(1) 2% FIAULE S @ 91991213 8% I

3) 9919 QIR A1RIE @) ©.2EL AL

38, QITNAIFER LTS §1 AEIRIALIA F1EQ 699 6Q90IT ANTE 2
(1) QAR I 2) QUL TY

(3) 6@Q194l 4) 6991 R

3. 9IR0Q PR ACAT FIRYC 699 296ReQ PR JAFIRRI ARRIA VTG AIRSE 2
(1) Q324 2) Il 280

(3) AU 264 @) Il 26

40. NIQ PINRI-1 ATE QIRR -1 :

SIRRI-1 QIRRL-I1
@299 629 QURY
(A) sl O 2QSIOR J6ad
B) QR I ge
©  adale 1D eaQR
D) gql V) QeIRIE

Q6Q GRUILIRYR! FRFYGR FUQ A0R QA LY -
(1) (A)- V), (B)- (1D, (C) - (1), (D) - (III)
) (A)- @, (B)- (I, (C) - (IV), (D) - (IT)
(3) (A)- V), (B)- (1D, (C) - (1), (D) - (IT)
4 (A)- @, (B)- (D), (C) - (AV), (D) - (III)

SPACE FOR ROUGH WORK
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41. In which state is ‘*‘Amchang Wildlife Sanctuary’’ loacted ?
(1) Assam (2) Rajasthan
(3) Odisha (4) Manipur

42. India’s first 3D-printed Post Office has been inaugurated in :
(1) Guwahati (2) Kolkata
(3) Mumbai (4) Bengaluru

43. What should come in the place of the question mark (?) in the following alphanumeric series ?

A1X, B4P, E25J, J100F, ?
(1) 0289D (2) 0225E
(3) Q289D (4) Q225E

44. In the given analogy, choose the word which will replace the question mark :
NEGI : MVTR :: SING : ?
(1) TRNS (2) TRNT
(3) FRMT (4) HRMT

45. In a certain code language ‘ki ru pi’ means ‘nobody like cruel’, ‘ki mi cha’ means ‘king was cruel’ and

‘ru pi cha’ means ‘nobody like king’. What is the code for ‘was’ in the given code language ?
(1 ki (2) mi
(3) cha (4) ru

46. Read the following information carefully to choose the best option for the question :
‘P % Q’ means that ‘P is the sister of Q’
‘P + Q’ means that ‘P is the son of Q’
‘P x Q’ means that ‘P is the husband of Q’
‘P — Q’ means that ‘P is the brother of Q’
Which of the following means ‘A is the son-in-law of G’ ?
(1) AxU+SxG 2) A+S%UxG
3) A-S+UxG 4 AxU%S+G

SPACE FOR ROUGH WORK
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41.

42.

43.

44,

45.

46.

69Q QURIEQ "SI QYIS LRAQEY" TS 2
(1) 21 Q) AL 3) GB@4ll @ Q8gQ

QAR Y2IE1 3D-J64@ FIREA Y0I6Q RQWITE 6RIRS :
1) 691LIe1 2) 6RANRNS 3) AR (4) 6REIRQ

R 2FQ o AR6R g4 92 (7) FIF6Q @'¢ 211 @57

A1X, B4P, E25J, J100F, ?
(1) 0289D (2) 0225E (3) Q289D (4) Q225E

693 92 Q189 Q12| 94 529 QAR
NEGI : MVTR :: SING : ?

(1) TRNS (2) TRNT (3) FRMT (4) HRMT

@ 562 6Q1Q QVNEA ki ru pi' @ 28] 6LRAG nobody like cruel', ki mi cha' Q 2I& 62QF ' king
was cruel' \4Q° 'ru pi cha' Q 2ol 62Q8 'nobody like king'. @@ 6RQ QUVIERQ 'was' aiQ eQle @
'Sl 2

(1) ki (2) mi (3) cha 4) tu

g9 QIR AEFIRC TR QIFF AR TS JoRIg U8R AR ILY |
P % Q' Q 22l 628 P 6298 Q' Q VRAEIT

P+Q QUL 6208 P 62RT Q A YL

P x Q Q2 628 P 62AZ Q Q YA

P-Q Q2 6298 P 6208 Q Q AN

FIRYE ARIQ 629G 2l 6208 'A 6298 G A IR 2

(1) AxU+SxG 2) A+S%UxG
(3) A-S+UxG 4) AxU%S+G

SPACE FOR ROUGH WORK
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47.

48.

49.

50.

51.

1f 26 J anuary, 2020 was a Sunday, then what day of the week was it on 16™ March of that year ?
(1) Sunday (2) Monday
(3) Tuesday (4) Wednesday

What will be the measurement of the angle made by the hour and minute hands of a clock when the time is
‘quarter past 3’ ?

(1) 6% (2) 10°
1° 1°
(3) 75 4) 85

If in a certain code laguage, ‘MERCURY’ is coded as ‘NGUGZXEF’, then how will ‘ENTANGLE’ be

coded in the same code language ?
(1) FPXFSMSM (2) FPWESMSM
(3) FPWESNSN (4) FPWFTNSM

The problem given below consists of a question and two statements numbered I and II. You have to decide
whether the data provided in the statements are sufficient to answer the question.

How many sisters does Sunny have ?

I.  Sunny is the only son of his parents.

II.  Sunny’s parents have three children.

(1) Only statement I alone is sufficient to answer the question.

(2) Only statement II alone is sufficient to answer the question.

(3) Statements I and II together are sufficient to answer the question.

(4) Either statement I or II alone is sufficient to answer the question.

A boy leaves his house. He travels 6 km towards South, then travels 8 km towards West and further travels

9 km towards South. How far and in which direction is he from his house now ?
(1) 13 km, South West

(2) 17 km, South West

(3) 17 km, North West

(4) 13 km, West

SPACE FOR ROUGH WORK
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47.

48.

49.

50.

51.

Q@ 26 RN, 2020 AERIRQ YA, 696Q 69@ TR 16 7P AYILA 68 @R YR 2
(1) Q&R (2) 64IFIRN (3) YR (4) QAR

@ AR 919 FIR G2 6RIEIQ FIIY 6RES 62 6ICREER AFIL 3:15 62 2
[o] 10

1 . 1 1
(1) 6 @) 10 3 73 4 83

o

0@ 9@ QL8 6QIQ QINIER, MERCURY' § NGUGZXF QIG6Q 6R1Q QQUAN, 6569
'ENTANGLE' @ QIR 6912 QIFIEQ @G 691Q @QULS 2
(1) FPXFSMSM (2) FPWESMSM (3) FPWESNSN (4) FPWFTNSM

Q76 GUIKIRYQ! ATAIER 6GlITN gg ¥9° 1 9Q° 11 ¢ SR QA6 QR QLT |
J9959a R0 699 IR A9R6a FRALIRYR! GaY Y] @ AIF CIgl AT TR
RCQIQ 624

AT 6REC QR8N LS 2

L 98 ol JRIAIGIE MR8 g |

1. A3 JeIFIGITq G6RIE ABIR RS |

(1) 9962971398 2 I8 990 290 694! IR U62Y |

@) 996297 1396 @ J4Q 28R 694! IR A62R |

(3) 98398 199° 1 TRG QI6Q 4R Q9 62 AR U6} 621R2N |

@) 93 6R9R e QIRY 184 I, J9Q a9 629l AIR I62Y 62IR2IN |

J2 99 281G QINKIRGI.6Q @ G9Iq 6 @.7. G RAB, B 'I6Q A& GAQ 8 @.4. I
Q08 49 @RE Q9g 9 @4 UIGl K98, CIF AQ QAR 6R6E YA IY° 67 AT6Q
283 2

1) 138.8., 9F6-98¢ @) 17&.8., @Q48-98%

3) 17@.9., Q@-98i¢ @ 13@.8., 98e

SPACE FOR ROUGH WORK



501 EOD/D

(20)

52. Find out which of the answer figures completes the figure matrix :

Problem figure :

90

9

9

9

X

(1)

2

3)

4)

X%

53. A clock seen through a mirror shows ‘quarter to seven’. What is the correct time shown by the clock ?

(1) 615 2) 6:17 (3) 5:17 4) 5:15

54. The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown

in the following figures. How would this paper look when unfolded ?

e .’ g
" A <
/, ,’, \\ N
O 0O 0O 0O 0O 0O (o] o
M o o @ |oQOo 3) (@) 4 loQOoO
o 00 0O 00 0O 00 (o] o

SPACE FOR ROUGH WORK
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5. 629 Q8Q W 08 A1I0gq A% F6Q VI 639G :
QY GG -

90

X4

9

19

X

3)

4)

X%

(1) i @)

53.  @JGI6Q 6QHILIRLYQ 6AIT AFER ARSI AT 15 OGS QEUAIR 62RAN | AL T
R4IARYS A0R AL @6l 2
(1) 6:15 (2) 6:17

(3) 5:17 (4) 5:15

5. 69IGN QITR HEq QTR §F IG° 699 AAINER ANFYRY WF FAUARE, oI
Q6419 09976Q QIIKIRR! 63N AFER Y& I9FE FAR RV 2

’ .7 &
7/
’ ,
”, ,f\ 9
7 7’
~
’ e . N

(1

3)

o

o

o
@)
o

o]

o]

4)

000

000

SPACE FOR ROUGH WORK




501 EOD/D (22)

55. Find out the missing (?) number and letter.

C C
A ? | 44 F
80 31
5 20
? 8 |13 E
G I
(1) 59andK
(2) 6landL
(3) 6land K
(4) 59andL

56. What will be the next number of the series
3,6,10.5,17,26,?
(1) 31
(2) 38
(3) 40
4 41

57. In a class of 40 students, Anjali’s rank is thrice that of Anita. There are 4 students who have ranks worse

than that of Anjali. Anita’s rank in the class is :
(1) gth

(2) 10th

(3) 18th

(4) 12t

58. Six people E, H, K, M, S and U are seated in a circle facing the centre. U and H are immediate neighbours
of M. E is the only person sitting between K and S. H is to the immediate right of S. Who is to the
immediate right of U ?

(h M (2) E G K “4) S

SPACE FOR ROUGH WORK
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55.  2@LIQYQI (2) LG IQ° 2YAGEY 6HIF QLR KAP |

C C
A ? | 44 F
80 31
5 20
9 8 | 13 E
G I
(1) 599Q°K
) 6199°L
(3) 6148°K
(4) 594Q° L

56. JQQR1 YHRIQ LHI 6260 629 2
3,6,10.5,17,26,?
(1) 31 (2) 38
(3) 40 4 41

57. 40 @6 21QRIG1 2l 60T 654116Q UGRE QAUE AT QUE OIQ GRS RIS | 4 R
I 2198 6JRAINTa QAT ASRE 0IQ ST QSR | 694160 2RI QLT 6208
(1) ot (2) 10th
(3) 18th (4) 12th

58. 82 @6 B E, H, K, M, S IG° U 609 2Ieq gL 20 9@ Qa6 988 | U Ie° H 62088 M
Q ARCRT JERIF | E 62REE IRFIQ Q4B TN K IQ° s FlR6Q @RS | H 6ERE S QA 93
Q1218 AI96Q UA GaS G216 AIeq &4 2188
() M (2 E
(3) K @ s

SPACE FOR ROUGH WORK
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59. Find out which of the answer figures from the options can be formed using all the pieces given in the

problem figure.

Problem figure

Q O

AN

<

= =
(1) @/\@ @ O\VJO
o | OF @ | 82

60. Read the given statements and conclusions carefully assuming that the information given in the statements
is true, even if it appears to be at variance with commonly known facts. Decide which of the given

conclusion(s) logically follows from the statements.
Statements :

No keyboard is a mouse.

All mouses are computers.

All computers are laptops.

Conclusions :
I.  All mouses are laptops.

II.  All computers can never be keyboards.

(1) Only conclusion I follows

(2) Only conclusion II follows

(3) Neither conclusion I nor II follows
(4) Both conclusions I and II follow

SPACE FOR ROUGH WORK



501 EOD/D (25)
50. A TQeR GRAULINYQ! AP FRYFR RIQ 69K A@A AW 0D
RAULRAAIRR Q1L 681IF QAL KQG |
QAAIQYI QoI

Q O

~

4(

(1) @//—\@ @) OVO 3) @v@ @) @v@

~— SN— ~—

60. JOR Q6 YQ° RUA°RINY Yo AFe LY, 9T AQAIQ @Qg 64 G9@R6a FAIRA!
goql AcY, IG6 9al ARIQE QIR FEGSI 024 AZe AR 691N RSIUER, 6569 Ea
RAQ 64 GUILIRARI ARIB CIQ 609G SRR YYD VIR AGAAE R6Q 2
0P -
6@61d F6QIE IR IR G6L |
ACIY ClIQQY RIS AUCT' |
A0 AR 6LRE ML |
RAA°LIRN :

L QAL IR QY |

1. A7 RHICR 6R6R @ FERIL 62RAIRR QIR |
(1) 93138189 AQAAE F6Q

2) G 6QaR 1IVIB AGAQE REQ

(3) 9% 6193 ARIB19° 1 AGAQE FAE AT
4) QUG  IRIB1S° 1 AGAE [EQ

SPACE FOR ROUGH WORK
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8.

10.

11.

12.

13.

14.

15.

16.

17.

18.

Read carefully the following instructions :

No candidate will be allowed to leave the OMR Answer
Sheet blank. If any OMR Answer Sheet is found blank, it
shall be crossed by the Invigilator with his/her signature,
mentioning “Cancelled” on it.

Do not tear or fold any page of the Test Booklet and OMR
Answer Sheet.

Candidates are advised to ensure that they fill the correct
particulars on the OMR Answer Sheet, i.e., Application No.,
Roll No., Test Booklet No., Name, Mother’s Name, Father’s
Name and Signature.

In case of any discrepancy in any question between English
and Hindi/Regional language version, the English version
will be considered as the final version for evaluation.

Rough work is to be done in the space provided for this
purpose in the Test Booklet only.

The answers will be evaluated through electronic scanning
process. Incomplete or incorrect entries may render the
OMR Answer Sheet invalid.

Candidates are advised not to fold or make any stray marks
on the OMR Answer Sheet. Use of Eraser, Nail, Blade,
White Fluid/Whitener, etc., to smudge, scratch or damage in
any manner the OMR Answer Sheet during examination is
strictly prohibited. Candidature and OMR Answer Sheet of
candidates using Eraser, Nail, Blade or White
Fluid/Whitener to smudge, scratch or damage in any manner
shall be cancelled.

There will be one copy of OMR Answer Sheet i.e., the
Original Copy. After the examination is over, the candidate
shall hand over the OMR Answer Sheet to the Invigilator.
The candidate can take away the Test Booklet after the
examination is over. If the candidate does not hand over the
OMR Answer Sheet to the Invigilator and goes away with
the OMR Answer Sheet, his/her candidature shall be
cancelled and criminal proceedings shall also be initiated
against him/her.

Candidates are advised strictly not to carry handkerchief, any
mobile phone, any type of watch, belt or wear ornaments
like ring, chain, ear-ring, etc., electronic or communication
device, pen, pencil, eraser, sharpener and correction fluid to
the Examination Centre. If any candidate is found possessing
any such item, he/she will not be allowed to enter the
examination centre. Possession of a mobile phone or any
other aiding material as mentioned above by the candidate in
the examination room will be treated as a serious violation
and it may lead to cancellation of the candidature and
debarring him/her from future examinations.

If a candidate violates any instructions or shows any
indiscipline or mishehaviour, appropriate action will be
taken including cancellation of candidature and debarring
from future examinations.

Use of electronic/manual calculator is not allowed.

PARGe P6edg07 ALPR ATe AP :

8.

10.

11.

12.

13.

14.

15.

16.

17.

6a168 ANl OMR Q@R J8F SR /ITIG AGaE
QTS IE1 9T 67168 OMR QAR ¢ IR ARAN,
Qle@em dAIVl JRCIRGE Q46 48 AQUTe FUIS
99° Q@ QQULIRE" 691 6MSIFS |

663 9699 98° OMR Q@9 98 69169 Jaq 86428l
a9l 69I5RIR 290G QIR

aouaIchsies 9gl A8e K9g 69 697168 OMR Q@R
de6a 09 Sedl god QA8E, 2l 6L A9,
60IM QALY 66F 6/E AR, A1, Al'w FIg, TSl Qlgl
99° QL8Ie /0S|

A9 A°AUR1 9L° ER1/2I8Re QYA °AQE F1RIER 6116
g6 63Tl 21, R°AUR °INEG FIRYIAEG AN §9I8
A8 QURRIG AGR |

H9gI QI 699R 669 965969 ¢ € AR 9T
FAULIRAYS! IR6R KA 62€ |

QROYLY REMRLES AT 9GL AIRIFIER JRYIAG 689
2add @9l @R 698 OMR QRQ 98q A6T |l ANGYl
A6LQ |

AUYINFI6S OMR QEQ 9869 6a16Q 6711GISI Rl AQY
3¢ AOIRGIE 2T FIF1 REARR, 99, 698, 98
COR/MINGAQ 2GR QUL 88 OMR Q@ d8q
6969163 QIR VLYY /AR FeUIR AER| ILlg
AATE ARSI aNNEIE AQUARI 99° OMR QQQ g
Q@ AU |

OMR Q@9 9gQ 9@ geRd 9@e, adie g gemdl
A91al 9919 6291 969, AaIFIl OMR Q89 988 AsISl
AR0IRag 69691 A9NAl 97IY 6291 968, Al 66
96599 66R9Ia QRS ] 97 64188 aigh OMR Q89
Qg% avsl ARcIReg @ 69a SIRG6S, SR daudel
@ehag) @ SaUde 9e° SiF Q969 2ldale Al
6291

aongidialee QIR 67168 6CISIRR 6P, 6181
deloQ Q4 6eR a9l AR L2l g9, 699, AFM
RS QUG @2 6QNFICAIT QUKAE, aME, 6IGM,
R6969, aal 9AS 9g ¥Y9° A°EARIS CAR ANSI
62969 60@ JIg R60IARINER F6F QER | T 6116T
AU 9E gRIRR 6716T QY ARG @R26S, 69l6s
QIS 60969 Y694 @ARIg AFAT AIRES QD | A
A6 6FISIM 6PIF FAl AUEAUB QAERYS AILIAY
QARG AIE ARG TR ARPR 691N F6956 699
99° 6Q7eE @S9Ye AR [ FAULS 99° Sl
Jeudel@ieh a8) oa e

9T 69168 9 69168 F6TH0 AAXPE 998 Gl
QAR QULLIR 6Q%IE, FITIR Audal (@liell ag)
Q@ QAUIR, AFE QIR FAUIR 99° QFJYE ANIVIQ
ol QI9¢ AUIL |

. RERYLR/FIZUR  FUAPERTAR QUL FETUIRI

Q@R




